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1. REHhE
TREEDH FE
T AL RE 8 R E BB R SRR I H 0.055
2 Bk e AR B IS ML Bh B 5 = A R R 0 H 0.092
BB LB ZE AN £ 4 = A MR B H 0.033
JKERASE T2 MR I H 0.028
BIEASE T ESMRERIH 0.015
s mAMRRE L H 0.011
AR B PEZE AR PR I H 0.015
2. HWFER
PRES ] PRI A [a] A7

1K 1.5%

3K 3.5%

5K 5%

7K 6.5%

10 K 8.5%

15 K 12%

1A 20%

2N H 30%

3MH 40%

4/~ H 50%

51 H 60%

6 ™H 70%

7MH 75%

8 ™A 80%

91MH 85%

10 ™H 90%

11 1A 95%

12N H 100%
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3. FEMEBMRSE T

3.1 —IRATEEER



HMERRIG R = FRERE X REHIRE T

3.2 CPAERE. FEREAL BUEH TR 14

(1) PEZRAEBRY = FZHAETBMRE T X 0.52
(2) FRHMEBRE = FOEMEBRE T < 0.27
(3) AZHEMEBRRE = FEMEBRK T < 0.09
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